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1 C GDSA ND TAMESHISAN

2 DIMENSTON AC(H)

3 PalH=u,314199E=3

4 FAl2=0.0

5 VU 1lv 1=1+10000

6 PAIL=PA[HRFLOATCL)

7 16 PAI2=PA[2PALH

8 Am31e457

9 A(l)=2e12356

10 AC2)=5,.55336

11 AL3)=15.4216

12 A(4)=9,52031

13 AL5)=110.135

14 YARCA(ACLI®#X+A(2)IX+A(3I)IRXTA (L)) #X+A(D)
15 Y2sALL) #X##4+A(2) xX%##3+A(3) RAXN2+A(4) #X+AL5)
16 wRITE(6+1600) PAILPA[ZaY1 Y2
17 600 FURMAT (LHDWOA3HL=AFi24 /45X 0 3H1=BsF12.T/1HO5X
18 L3H2=A«F12¢245X13H2=8F1242)
19 STOP

20 LND

1-A 3-1#15550 i=B 3.1387350
2=A 2205651.00 =5 2205652.00
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